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Mathematics PIWiskunde Vl 

NOTE: 

LET WEL: 

QUESTION 1/VRAAG1 

1.1.2 

Ifa candidate answersa question TWICE, only mark the FIRST attempt. 
Consistent Accuracy applies in all aspects of the marking guidelines. 

Indien 'n kandidaat n vraag TWEE keer beantwoord, sien slegs die EERSTE poging na. 
Volgehoue akkuraatheid is DEURGAANS op ALLE aspekte van die nasienriglyne van 

toepassin. 

1.1.3 

1.1.4 

1.1.5 

x'-31-10 =0 
(r+2Xa-s) = 0 
A=-2 or a=5 

3x +6x +l= 0 

-(6)+ \(6} -4(3X1) 
2(3) 

X=-1,82 or x =-0,18 

2xd+2 =8704 

2*(16+1) = 8704 
2 =S12 

- 29 
X=9 

(-8Xa+2) so 

SCNSCSSINSS - Marking Guidelines/Nasienriglyne 

CV: x=8 or x=-2 
..-2<xs8 

x+3vx+2 =2 

3x+2 =2-x 
9x+2) = 4-4x+x 
x?-13x- 14 = 0 
(r-14X* +1) = 0 
x#14 or x=-1 

2 

OR/OF 

OR/OF 

Copyright reserved/Kopiereg voorbehou 

2 =512 

x= log, 512 =9 

xe[-2;8] 

DEPARTMENT OE 
EDUCAT: 

DBE/MayJune/MeilJunie 2025 

PRIVATE BAG X895, PHE):uv! 

25 -05- 2025 

APPROVED MARKING GUNDELIINE 
PUBLIC EXAMINATION 

Vfactors/formula 
Vanswer 

answer 

Vcorrect substitution into 
correct formula 

Vanswer 
answer 

Vfactorisation 

� answer 

simplify to exponential eq 

Vcritical values 
� answer 

Visolating the surd 

(3) 

answer with selection 

(3) 

Please n brer/Blaai om asselef 

(3) 

squaring both sides(method) 
Vstandard form 

(3) 

(4) 



Mathematics Pl/Wiskunde Vl 

1.2 

1.3 

(y-3)(r + 2) = 32 
yx + 2y -3r-6= 32 ...1) 

2(y -3) + 2(x + 2) = 24 
y+x-l= 12 
y=13-x 

(13-x)x+ 2(13-x) -3x-6= 32 

-x' +8x-12 =0 
13x -x* + 26-2x-3x-6- 32 = 0 

x?-8x + 12 =0 
(x-6)(*-2) = 0 
X=6 or x=2 

y=7 

y=13-6 or y=13-2 

OR/OF 
(y-3)(x +2) = 32 

x=13- y 

SCINSCISSINSS � Marking Guidelines/Nasienriglyne 

yx + 2y-3x-6=32 ...1) 

y=11 

2(y -3) + 2(x + 2) = 24 
y+*-l= 12 

...2) 

-y' +18y - 77 =0 

y(13- y)+2y - 3(13-y)-6 = 32 

y'-18y +77 = 0 

13y -y' +2y -39 +3y -6-32 =0 

(y-7)-11) = 0 
y=7 or y=11 
X=13-7 or 

x=6 

OR/OF 

..(2) 

x=2 

x=13-11 

- (2)(2x" +2x-*) 

(l+x*+**-(1-*-") 

3 

DEPARTMENTOF BASIC 

PRIVATE BAG 
X895, 

PRETORIA 0001 
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-[1+x*+*-(1-*-*)++**+{1-*-)) 

(1+x" +x"y -((-x-x"}=4x" +4x 

25 -05-2025 

= 4(r" +x") 
-(2)/2*" + 2x*) 

APPROVED 

MARKING GUIDELINE EXAMINATION 

(1+x" +x") =1+x" +x" +" +xm +x +x +xn +x2n 

=1+2xm +2x" +2xm- 4xm +xn 

(1-x"-x"} =1-2xm -2" +2xm- +x2m +x2n 

PUBLIC 

DBEMayJune/MeilJunie 2025 

� setting up eq 1 (Area) 

Vsetting up eq 2 (Perimeter) 

Vsubstitution 

Vstandard form 

Vx-values 

Vy-values 

OR/OF 

setting up eq 1 (Area) 

Vsetting up eq 2 (Perimeter) 

Vsubstitution 

Vstandard form 

Vy-values 

Vx-values 

� factorisation 

�2 

(2r +2**) 
OR/OF 

V expansion 

�4 

(6) 

Please turn her/Blaahdiasseblief 

(6) 

(3) 

(3) 
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QUESTION/VRA4G2 

2.1.1 

2.1.2 

2.1.3 

2.2.1 a) 

2.2.1 b) 

2.2.2 

T, - 2n+3 

93 = 2n +3 

90 =2n 
45 =n 

50+70+90+...930 

S,, =2(50) +(45 �1X20)] 
S= R22 050 

2 

Total raised = R22 050 

OR/OF 

50+70+ 90+..+930 

Ss = s04930] 
Ss = R22 050 

2 

Total raised = R22 050 

OR/OF 
5+7+9+...+93 

45, Sis =(2(5) +(45-1)(2)] 
S =2 205km 

S = R22 050 
Total raised = R22 050 

ONOF 

SCNSC/SS/NSS- Marking Guldelines/Nasienriglyne 

5+7+9+... +93 

S =2 205km 

S. = R22 050 

T, =8 

r=2 

Total raised = R22 050 

T, =(2) 

To =(2) 
T,o =22 =(2)" 

=4l! 

Copyright reserved/Kopiereg voobehou 
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X895, 

PRETORIA O001 
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APPROVED MARKING GUIDELINE PUBLIC EXAMINATION 

DBE/May/June/MeilJunie 2025 

V2n 

Voquating 

Vanswer 

Vconvert to money 

/substitution 

�3 

Vanswer 

OR/OF 

Vconvert to money 

substitution 

Vanswer 

OR/OF 

/substitution 

answer 

�convert to money 

OR/OF 

substitution 

VansWer 

Vconvert to money 

Va=8 

Vr=2 

substitution 

Vanswer 

(2) 

(2) 

(3) 

(3) 

(3) 

(3) 

(1) 

(1) 

(2) 
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2.2.3 

2.2.4 

1 

S. = 

.". S 

16 32 
a 

1-r 
1 

S,, = 

8 

1 

OR/OF 

1 

1 

2 

8 + 4' +32 + 4' +...+4" +... 

S, -So = s(2" -1) 16(qo -1) 

SCINSC/SS/NSS - Marking Guidelines/Nasienriglyne 

2-1 

8+32 + 128 + 

= 16 777 208 - 5 592 400 
= 11 184 808 

s(4" -1) 
4-1 

.. S,, =11 184 808 

4-1 

Copyright reserved/Kopiereg voorbehou 

DEPARTMENT OF BASIC 
EDUCATION 

PRIVATE BAG X895, PRETORIA 0001 

25 -05- 2025 

DBEMayJune/MeilJunie 2025 

APPROVED MARKING GUIDELINE 
PUBLIC EXAMINATION 

series 

Vsubstitution 

Vanswer 

s(2" -1) 
2-1 

Vn=10 

16(40-1) 
4-1 

V11 184 808 

OR/OF 

Vn=11 
Vr=4 

84"-1) 
4-1 

V11 184 808 

(3) 

(4) 

(4) 
[18] 
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QUESTION/VRAAG3 
3.1 

3.2 

3.3 

14 9 ; 6 ; 5 

-5 -3 

2a =2 
a=1 

2 

.. n = 20 

:.T, =n' -8n + 21 

T =-5+(n-1)(2) 
T =2n-7 

2n-7= 33 

OR/OF 

3(1) + b=-5 
b=-8 

:.T,, =(21)' -8(21) + 21 
T, =294 

2n-7= 33 
..n=20 

SCINSCISSINSS � Marking Guidelines/Nasienriglyne 

2 

:.T,-T, = (n+1'-8(n +1) + 21-n' +8n -21 
n'+2n +1-8n-8+21-n +8n-21=33 

I,, =294 

:.T,, =(21' -8(21)+21 

T, =T, = 14 
.:. 14+ m >0 
m-14 

6 

And T, =T, 
..9+ n <0 

m<-9 

.. -14< m<-9 

1-8+c= 14 
c=21 

Copyright reserved/Kopiereg voorbehou 

DEPARTMENT OF BASIC 
EDUCATION 

PRIVATE BAG X395, PRETORIA 0O01 

25 -05- 2025 

DBE/May/June/MeilJunie 2025 

APPROVED MARKING GUIDELINE 
PUBLIC EXAMINATION 

� 2a =2 
V 3(1) + b=-5 
�1-8+c= 14 

general term 
equating to 33 

�answer 

OR/OF 

VT,-I, 
Vequating to 33 

Vanswer 

�- 14 

V-9 
�-14Sm<-9 

Please turyfover/lBlaaigm dsseblief 

(3) 

(3) 

(3) 

(3) 
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QUESTION/VRAAG4 
M(3;4) 4.1 

4.2 

4.3 

4.4 

4.5 

4.6 

fa) = 

y= 

M(3;4) 
y=t 

t=1 

4 

4 �3+t 

0-3 

x-3 

4 

X=2 

4 

*-3 

x-3 

4 

-4(x-3) =4 
x-3=-1 

C(2;0) 
..2sx<3 

x-3 

44=0 

+4 

=X-3 

4=(x-3)² 
+2 =x-3 
.".x=5 

.:.A (5;6) 

OR/OF 

-+4=x+1 

A(5 ; 6) 

h(x) = 

By translation: 

+4 

-4 

A(Va+3;Va+ 4) 

x+3 

A'(-5;6) 

8 

or x1 

AA' =10 

3 

4 

SCNSCASS/NSS -Marking Guidelines/Nasienriglyne 

Point closest to the origin in y = is (Va;a) 

OR/OF 

-+4 

.+4 
-x-3 

..Reflection in y - axis. 

7 

Copyright reservedIKopiereg voorbehou 

y= (x+p) +q 
y=*-3+4 

y=x+1 

DEPARTMENT OF BA KC 
EDUCATIO 

PRIVATE BAG X895. PACU) 

25-05- 2025 
APPROVED MARKING GiDELINE 

PUBLIC EXAMINATION 

DBE/MaylJune/Meilunie 2025 

Vx=3 
Vy=4 

Vx=0 

Vy-value 

�substituting M 

� value of t 

y=0 

Vx=2 

� answer 

Vequating 

OR/OF 

YA 

transBation 

� coordinates 
� distance 

Please turD over/Blaain assohlief 

(2) 

(2) 

(2) 

(4) 

(3) 

(3) 

(2) 
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QUESTION/VRAAG5 
y=ax+1)' +4 
-4= a-3+1} +4 

5.1 

5.2 

5.3 

-8 = 4a 
-2 = a 

y=-2r+1} +4 
y=-2*' �4x+2 

k<-4 

SCNSC/SS/NSS � Marking Guideines/Nasienriglyne 

Copyright reserved/Kopiereg voorbehou 

8 

(l;y) 

DEPARTMENT OF BASIC 
EDUCATION 

PRIVATE BAG X895. PRETGhIA J0CI 

25 -05- 2025 

DBE/May/une/Meil.Junie 2025 

APPROVED MARKING GUIDELINE 

PUBLIC EXAMINATION 

�substitute (- 1;4) 
� substitute (-3;-4) 
�-8 = 4a 

�vk<-4 

point of inflection 

� change of concavity at 
x=-1 

y-intercept below 
*-axis 

increasing curve 

Please yn over/Blaai omesseblief 

(3) 

(2) 

(4) 

19 
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QUESTION/VRAAG6 
6.1 

6.2 

6.3 

6.4 

(0;-3) -3= p' +g 

(3;4) 

E(-3;0) 

..f)= 2*-4 

g(x) = mx +c 

y>-4 OR/OF y e(-4; 0) 

2 
y=te 

y= 

3-(-3) 

2 

3 
..c=2 

0--3) +c 
2 

OR/OF 

For g : 

2 

y= mx-3 

3 
m= 

4-0 2 

3= m(4)-3 

For g: 

+2 

2x +6=3y 

+2=y 
2 

2 

p=2 

:g)=*-3 

:y=r+2 

4= p' -4 

3 

3 

9=-4 

p'=8 

**+2 

g(:) =x+2 

3 

SC/NSC/SS/NSS � Marking Guidelines/Nasienriglyne 

2 g)=-3 

3 

Copyright reserved/Kopiereg voorbehou 

OR 

OR 

y=p'-4 

y-o-~u+3) 

DEPARTMENT OF BASIC 
EDUCATION 

PRIVATE BAG X895, PRETOSIA GUU1 

25 -05- 2025 

DBE/MayJune/MeilJunie 2025 

APPROVED MARKING GUIDELINE 

PUBLIC EXAMINATION 

Vsubstitute (0; -3) 
V answer for q 

substitute (3; 4) 

� answer for p 

� answer 

E(-3;0) 

V substitution 

Vequation 

OR/OF 

V substitution of (4;3) 

mofinverse 

V equation of g 

� equation of g 

Swop x and y 

equation 

(4) 

(1) 

(4) 

(4) 

(2) 

11| 
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QUESTION/VRA4G7 

7.1 

7.2 

7.3 

P-*-(1+i) 

S00 000 = 

i= 16,08% 

(1,015)" = 

i 

-n =log1.015 

1200 

=12 

F= 

11 250| 1 

F= 

3 

A= P(l+i)" 

n=73,788... 
.n=73 withdrawals 

2 00 14 

SCNSCASS/NSS -Marking Guidelines/Nastenriglyne 

0,095 
12 

=R17 521,17895... 

x(1+1)" -1] 

0,06 
4 

0,095)24 

12 

0,095 
12 

=R 13 158,64744... 

12x4 

10 

Copyright reserved/Kopiereg voorbehou 

DEPARIMEi 
EDUCA 

PRIVATE BAG XF95 

25 -05- 2025 

APPROVED MARKINLi: JL: 
PUBLIC EXAMINATION 

Total = 17 521,17895... + 13 158,64744... 
=R30 679,83 

DBEIMayJune/Mel/Junte 2025 

Vsubstitution into 
correct formula 

answer 

Vi 06 
4 

V substitution into 
correct formula 

Vcorrect use of logs 

Vanswer for n 
Vfinal answer 

Vi= 
0,095 

12 
Vn=48 in A 
V substitution into 

correct formula 

�n=24 in F 
V substitution into 

correct formula 

V adding compound and 
future values 

(2) 

(5) 

(6) 
|13] 
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QUESTION/VRAAG8 

8.1 

8.2.1 

f(r) =x -2 

f') = lim 

f'() = lim 

h0 

f'() = lim 

h’0 

f(r)= lim 

OR/OF 

h0 

h0 h 

:.f'() =2x 
f'()= lim (2x +h) 

f')= lim 

dx 
= 6x�4 

f)=x-2 

h’0 

f'()=lim 

f(x+h)-f() 

x' +2xh +h' -2-('-2) 

h0 

f'() = lim 

2xh +h² 

f(x+h) =(x+h)' -2 =x² +2xh + h? -2 

f(x+h)-f(x) = 2xh +h? 

h’0 

h(2x + h) 

h+0 

SCNSCISS/NSS� Marking Guidelines/Nasienriglyne 

h 

f(a+h)-f() 

2xh +h? 

f'() = lim (2x +h) 
:.f')=2x 

h(2x + h) 

8.2.2 &(x) =-2/x(x-1)' 

g(x) =-2x? (r²- 2x +1) 

g() =-2x + 4x7 -2y 
3 

11 

1 

Copyright reserved/Kopiereg voorbehou 

DEPARTMENT OF BASIC 
EDUCATION 

PRIVATE BAG X895, PRETOKIa 001 

25 -05- 2025 

DBEIMayJune/MeilJunie 2025 

APPROVED MARKING GUIDELINE 

PUBLIC EXAMINATION 

�f(x+h) 
� substitution 

V simplification 

V factorisation 

� answer 

OR/OF 

frth) 
V simplification 

� substitution 

� factorisation 

�answer 

V6x 
�-4 

expansion 

V-5x2 +6x? 
3 

Plèasé urn over/Blaalpm aseblief 

(5) 

(5) 

(2) 

(4) 
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8.3 y= 4x-14 tangent 
..4x-4 = 4 

4x =8 

..y= 4(2) -14 
at point (2; - 6) 

g(2) = a(2) + b(2) -18=6 

(1) -(2) 
b=8 

g'(2) = 2a(2) + b = 4 

4a +b= 4 
4a +8= 4 
4a = -4 

a=-1 

OR/OF 

SCNSCsS/NSS - Marking Gutdelines/Nasienriglyne 

2x-8x+8 = 0 
x-4x+ 4=0 
(x-2)? = 0 
.".X=2 

2x'-4x-6=4x-14 

4a + 2b = 12 

4a +b=4 

..y= 4(2)-14 

(1) - (2) 

at point (2;-6) 

g(2) = a(2) + b(2) -18 =-6 
4a+2b= 12 

g'(2) = 2a(2) + b= 4 
4a +b=4 

b=8 
4a +b=4 
4a +8=4 

4a = -4 

a =-1 

Copyright reserved/Kopiereg voorbehou 

...1) 

...(2) 

12 

APPROVED MARK PUBLIC EXAMINATION 
NNING 

GUIDELINE 

...(1) 

..(2) 

25 -05-2025 PRIVATE 
BAG 

X895, 

PRETORIA 
0001 

DEPARTMENT O BASIG 

DBE/May/June/Mel/Junte 2025 

�4x-4 =4 

� y-value 

�g(2) = y-value 

�g(2) =4 

�a and b 

OR/OF 

Vequating 

y-value 

g(2)=y- value 

Vg'()g'(2) =4 

�a and b 

Please urn over/Blaai om 

(6) 

(6) 

[17 
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QUESTION/VRAAG9 

9.1 

9.2 

9.3 

9.4 

9.5 

f(a) = (x-4)(r' -2x+1) 
f(r) = (x-4)(x-1)' 
.:.k=1 

OR/OF 

f()=1-6+9-4=0 
(r- 1) is a factor 
.:.k =1 

OR/OF 

-4k' =4 
K'=1 
..k=1 

3x?-12x+9= 0 
x'-4x+3 =0 

(x-3)(x -1)= 0 
x=3 or x=1 
TP's: (3;-4) and (1;0) 
f" ()= 6x-12 
f-3) =-30 

SCNSC/SS/NSS - Marking Guidelines/Nasienriglyne 

0 

f"(x) < 0, therefore concave down 

=-+15x�14 

Max distance : -3x' +15 =0 

d(V5) = 8,36 
max distance = 8.36 

Distance= (-6x + 24x-18) -(r-6x* +9x�4) 
=-6x + 24x-18-+6x -9x+4 

3x² =15 

13 

Copyright reserved/Kopiereg voorbehou 

DEPARTMENT OE 
EDrCATiON 

PRIVATE BAG X895. PR' ! 

x'-5 

APPROVED MAHKING CJiLt.IN 
PUBLIC EXAMINATION 

25 -05- 2025 

(3;4) 

x=ty5,but 1 <x <3 

DBEMay/June/MeiJunie 2025 

(*'-2x+1) 
V(x-1)° 

OR/OF 

f(1) 
f(1) = 0 

OR/OF 

�4k =-4 
Vk=1 

f() 

� values ofx 
�turning points 

Vsubstitution x =-3 
into f" (*) 

V concave down 

/ turning points 
x-intercepts 

�y-intercept 
� shape 

� h(x) =-2f'(r) 

V simplification 

� first derivative V=0 

�x-value 

� answer 

Please tu1hover/Blaai o ateef 

(2) 

(2) 

(2) 

(4) 

(2) 

(4) 

[18 
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QUESTION/VRAAG 10 

10.1 

10.2 

P(A or B) = P(A) + P(B) 
P(B) = P(A or B) - P(A) 

= 0,79-0,42 
= 0,37 

People pay: R2 600 
0,7x R2 600 = RI 820 

Total value of pay-outs = R2 600 - R1 820 

..Pay-out= 

P(someone to win) =x 

OR/OF 

SCNSCISS/NSS � Marking Guidelines/Nasienriglyne 

=R780 

Total number of people winning = 

R780 

40 

People pay: R2 600 

.. Pay-out = 

P(someone to win) = 

16 

= R780 

Total value of pay-outs 
=0,3× R2 600 

52 2 
2 

R780 

40 

13 

= R19,50 per person winning 

161 
52 2 
2 

Total number of people winning = 

13 

2 

13 

Copyright reserved/Kopiereg voorbehou 

= 40 

-x 260 

14 

= 40 

- R19,50 per person winning 

2 
x 260 

13 

PUBLIC EXAMINATION APPROVED 
MARKING GUIDELINE 

25 -05-2025 PRIVATE BAG 
X895, PRETORIA O001 DEPARTMENT OF BASIC 

DBE/May/June/MeilJunie 2025 

� substitution 
�ansWer 

R1 820 

amount willing to pay-out 

16 

52 

2 
13 

� winners 

pay-out 

OR/OF 

V0,3x R2 600 

V amount willing to pay-out 

16 
52 

2 

13 

� winners 

pay-out 

Please turn over/Blaai alseblek 

(2) 

(6) 

(6) 
[81 
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QUESTION/VRA4G 11 

11.1 

11.2 

4 

4 

500 cannot be included .. 80 possibilities 

= 152 

X 

OR 

X 1 X 

X 

Total possibilities 
= 80 + 36 + 36 

501 to 599: 

= 152 

9 

601 to 699: 

=1 

9 

=4 x 18+ 80 
Total possibilities 

152 

499 

347 

15 
SCINSCISSINSS � Marking Guidelines/Nasienriglyne 

Thus 601 to 699=4 x18 

499 

=0,70 

9 

9 

1 

5 

9+9=18 

P(not having such a number) 

81 

99-10-9=80 

36 

36 

Copyright reserved/Kopiereg voorbehou 

possibilities 

possibilities of having a 5 in 
the 10's digit or units digit. 

DEPARTMENT OF BASIC 
EDUCATION 

PRIVATE BAG X895, PRE1OR:A D 

25 -05- 2025 

APPROVED MARKING GUIDELINE 
PUBLIC EXAMINATION 

DBEMayJuneMeiJunie 2025 

�1x9x9 

�4x1 x9 

�4x9 x 1 

V152 

� 80 

18 

�4x 18 
�152 

� n(S) = 499 
�1- P(having number) 

numerator 

TOTAL/TOTAAL: 150 

(4) 

(4) 

(3) 
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